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Max. Marks: 180

Instructions for candidates :

L.

2.

This question paper is in two parts.

Part - I is related to Mental Ability Test which
consists 0of 90 questions.

Part - II relates to Scholastic Aptitude Test
which consists of 90 questions relating to three
subjects listed below :

i)  Science
i) Mathematics
ili)  Social Studies

Each question carries one mark. All questions
are compulsory.

You have been provided with an answer sheet
(OMR) for this question paper. Darken the
correct option of each question in the answer
sheet (OMR) with black/blue ball pen.

Rough work may be done on the blank space
provided for this purpose. _

There is no negative marking in this test.
Do not use white fluid on Answer (OMR) Sheet.

Half an hour extra should be given to visually
impaired candidates only.
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MAT
Directions (Q1-10) There is a number /letter series
following a pattern .One place is left blank in the series.
Find out the correct answer from the options.

1. 0,6,24,60,120,210, ...
1. 240 2. 290
¥ 336 4. 504

2. 4,6,12,14,28,30 ...................
1. 32 2. 60
3. 62 4. 64

3. 1,336,797 12,21

1. 10 2. 11
3. 12 4. 13
4. 1,2,3,6,9,18, ... , 54
1. 18 2. 27
3. 36 4. 81

5. 3,8,22,63,185, ...
1. 550 2. 310
3. 295 4. 285

6. 66,36,18,?
1. 3 2. 6
3. 8 4. 9

7. 10, 14, 26, 42, 70, ?
1. 100 2. 102
3. 106 4. 114

8. 10, 100, 200, 310, ?
1. 400 2. 410
3. 420 4. 430

9. 325,259,204, 160, 127,105, ?
1. 94 2. 96
3. 98 4. 100

10. 198,194, 185, 169, ?
1. 92 2. 112
3. 136 4. 144

ne |

fseen : yus (1-10) 35 fok yuat &g wat/ »yst
& fe'g st fosht ot 3 | fegt st 9 f'T
rus yEt efenr famr 3 1 few g & fors fe's
Jyd BF § yor 9 BEt feF I Q39 f&F
Aot TSt = aq |
1. 0,6,24,60, 120,210, ...............

1. 240 2. 290

3. 336 4. 504

2. 4,6,12,14,28,30 ...ocooorreen.
1. 32 2. 60
3. 62 4. 64

3. 1,336,797 12,21

1. 10 2. 11
3. 12 4. 13
4.  1,2,3,6,9,18, ... , 54
1. 18 2. 27
3. 36 4. 81

5. 3,8,22,63,185, ...
1. 550 2. 310
3. 295 4. 285

6. 66,36,18,?
1. 3 2. 6
3. 8 4. 9

7. 10, 14, 26, 42, 70, ?
1. 100 2. 102
3. 106 4. 114

8. 10, 100, 200, 310, ?
1. 400 2. 410
3. 420 4. 430

9. 325,259,204, 160, 127, 105, ?
1. 94 2. 9
3. 98 4. 100

10. 198, 194, 185, 169, ?
1. 92 2. 112
3. 136 4. 144



Al

Direction Q (11- 15) According to the specific pattern
fill the blank spaces of letter series in the following

faoew : yus (11-15) faufes gu 3ur »gAa It
faStnrt aretnt »i'yg st f&s ust et 391

questions.
1. bc_ _b__c__b__ccb 1. bc_ _b___c__b__ccb
1. cbcb 2. bbecb 1. cbeb 2. bbeb
3. cbbe 4. bebe 3. cbbc 4. bebe
12. gfe_ ig__eii_ fei _gf _ i 12. gfe__ ig__eii_fei _gf i
1. eifgi 2. figie 1. eifgi 2. figie
3. ifgie 4. ifige 3. ifgie 4. ifige
13. c_bba_cab__ ac _ab_ac 13. c_bba_cab__ac _ab_ac
1. abcbe 2. acbcb 1. abcbe 2. acbcb
babce 4. bcacb 3. babcc 4. bcacb
14. a__acca__ccca__acccc _aaa 14. a__acca__ccca__accce __aaa
1. acca " 2. caaa 1. acca 2. caaa
3. ccaa ‘4. caac ccaa 4, caac
15. b_b_bb__ _bbb_bb_b 15. b_b__bb__ _bbb_bb_Db
1. bbbbba 2. bbaaab 1. bbbbba 2. bbaaab
3. ababab 4. aabaab 3. ababab 4. aabaab

Directions (Questionsw-zo)Findthewrong/oddterm

16.

17.

18.

19.

20.

63, 18 90, 51,45,72

1.
3.

72
51

2. 18
4. 63

3,7,15,31,59, 127, 155

1. 7 2. 59
3. 127 4. 15
73,71, 67, 65, 59, 53

1. 7 2. 53
3. 67 4. 65
PT, EU, DU, CW, AY

1. DU 2. EU
3. CW 4. PT

R 36, N28, D6, P32, U42

1.
3.

N28
R36

2. U42
4. D6

fsoaw : (U 16-20) fe'v fé5 feamy €t 3=

91
16.

17.

18.

19.

20.

63, 18 .90, 51,45,72
1. 72 2.
3. 51 4.

3,7,15,31,59, 127, 155
1. 7 2.
3. 127 4.

73,71, 61, 65, 59, 53
1. 71 2.
3. 67 4.

PT, EU, DU, CW, AY
1. DU 2.
3. CW 4.

18
63

59

53
65

EU
PT

R 36, N28, D6, P32, U42

1. N28 2.
3. R36 4.

U42
D6




Direction : (Question 21-27) . Replace the question

mark (?) with suitable number from alternatives

21.

3,
23.
5/ \6 6/ \7 4/ \8
12 21
4 5
1. 30 2. 22
3. 42 4, 32
2.
44 | 64 |100
34 | 49 |169
54|81 %
1. 81 2. 144
3. 225 4. 64
25.
[4 5] o] 51 71 [=]
16 25
Lel L1 [s 4] s L3]
1 16 2. 14
3. 15 4. 17

fsgew (yus 21-27) €3 o feasut f€F
yEs 9 (7) <t wgyr 991

21.

1.
3.

@9

()

72
68

(1)
)

2.
4.

70
66

1L 210 2.
3. 70 4. 150
23.
5 6 6 7 4 8
12 21 ?
4 5 10
1 30 2. 22
3. 4 4. 32
24.
44 | 64 |100
34 | 49 |169
54| 81 ?
1. 8l 2. 144
3. 225 4. 64
25.
L] [s1 Lol _[3] @[z
16 25 - ?
ICH [ T S Y B 1 O 3 I X
1. 16 2. 14
3. 15 4. 17



26. 26.
80 12 ? 80 12 ?
6|8 3|4 5|4 6|8 314 5|4
20 13 21 20 ' 13 21
1. 22 2. 20 1. 22 2. 20
3. 26 4. 24 3. 26 4. 24
27 27
9 5 4 7 4 8 7 9 8 9 5§ 4 7 4 8 T 9 8
\N| / NI/ \N| / NI/ AN I/ N_| /
(633) (123) ? ) 633) (123) ( 72 )
S A RS A D
1. 442 2. 243 1. 442 2. 243
3. 342 4. 141 3.0 342 4. 141

Drections (Questions 28-31 ) Which of the following {59 (yE® 28-31) Iat fo'3 are fa'get fe'd faaar
diagrams correctly represents the relation between  f&'3w yuEs f&s f&'3 o fas maet e Aot T

given three words e 3 |
©®6 L0 @ RGC”
O o O o
(A) (B) ©) (D) (E) (A) (8) © 0) (E)
28  Judge, Thief, Criminal 28. #H, 99, sfuardt
1. A 2. B 1. A 2. B
3. C : 4. E 3. C 4. E
29.  Languages, French, German - 29. FHL, I, AMNS
1. B 2. C 1. B 2. C
3. D 4. E | 3. D 4, E
30  Carrot, Food, Vegetable 30. IrAg, IAE, AEHEAT
1. A 2. B 1. A 2. B
3. C 4, E 3. C 4. E
31.  Mammals , cows , CroWs 31. gy, I, gt
1. B 2. C 1. B 2. C
3. E 4. D 3. E 4, D




32.

33.

37.

38.

39.

If ‘sky’ is ‘star’ ‘star’ is ‘cloud’, ‘cloud is earth’,
‘earth is tree ‘ and ‘tree ‘ is book then where do

the birds fly?
1. Cloud 2. Sky
3. Star 4. Earth

In a certain code DECEMBER is written as
ERMBCEDE, which word will be written as
ERMBVENO in that code ? '
1. AUGUST 2.
3. OCTOBER 4,

SEPTEMBER
NOVEMBER

If in a certain language COVET is written as
FRYHW which word would be written as
SHDUO ?

1. QUAKE 2.
3. STINK 4,

REPAY
PEARL

Inacertain code FAVOUR is written as EBUPTS.
How is DANGER written in that code ?

1. CBFFDS 2. CBMHDS

3. EBFHDS 4. EBHHFS

In a certain code, CAT is written as SATC and
DEAR is written SEARD. How will SING be
written in that code ?

1. BGINS 2.
3. SINGS 4,

SGNIS
GNISS

If ENGLAND is written as 1234526 and FRANCE
is written as 785291 , how is GREECE coded ?
1. 381171 2. 381191
3. 832252 4. 835545

If NOIDA is written as 39658 , how will INDIA be
written ?

1. 36568 2.
3. 63569 4.

63568
65368

January 1, 1992 was a wednesday , what day of
the week will be on January 1,1993?

1. Monday 2. Tuesday

3. Sunday 4.  Friday

32.

33.

34

35.

36.

37.

38.

39.

# 9E’ ‘Iar 3, ‘Iar ‘9es’ T, ‘9O’
‘gadt ¥, ‘IS ‘@I’ T w3 ‘TuT

fagre’ & I =t fad @a=at ?
1. S8 2. WANS
3. 3IIr 4. ugdt

fan fsufes &= fev DECEMBER 3
ERMBCEDE fafipur mter 31 €% a5 fe9
ERMBVENO faw mue & fafumr wradar ?

1. AUGUST 2. SEPTEMBER

3. OCTOBER 4.  NOVEMBER

. faui fsufea smar fe"g COVET & FRYHW fafipnr

war 3 3t faud mae §  SHDUO fafpnr
e ?

1. QUAKE 2.
3. STINK 4.

REPAY
PEARL

FAVOUR @ fan faufes as few EBUPTS
fafenr wter 3 | @R &3 f<'9 DANGER 3
fa=: fafir ardar ¢

1. CBFFDS 2. CBMHDS
3. EBFHDS ‘4. EBHHFS

fan feufea ds fe's CAT & SATC %3 DEAR
g SEARD fafimir wiwr 3 1 @R 3 ST SING
3 fa@ faf war |

1. BGINS 2. SGNIS

3. SINGS 4. GNISS

# ENGLAND 3 1234526 W3 FRANCE 3
785291 fafiwur wter 3 3t @ GREECE &
fa< fafimr e ¢

1. 381171 2. 381191
3. 832252 4. 835545

# NOIDA & 39658 fafumr srer &, 3t INDIA
¢ fa= fafeur aar ¢

1. 36568 2. 63568

3. 63569 4. 65368

1 A5<dT 1992 § §u=9 At, 1 A<t 1993

& fagsr fes 32 |
1. A9 2. Ma®eg
3. wIew 4. pIIST



Direction (Question 40 - 42) Find the correct group of
signs to solve the question.

40. 24 % 16 ¥ 8 ¥ 32
1. +,-,= 2. + =
3. -,+,= 4,

41, 20% 2% 4 ¥ 2 % 12
1. +,-,+= 2.+, +,,,=
3. +.4,-,= 4.

42 10%3%2%8%7
1. %X, +,, = 2.
3. - %,X%X,= 4,

43. |f P denotes = Q denotes X, R denotes + and S
denotes - then
18Q12P4R5S6="?
1. 53 2. 59
3. 63 4, 65

44. |f A stands for + , B stands for - . ¢ stands for x,
then what is the value of
(10C4) AMA4C4)B6
1. 60 2. 56
3. 50 4, 46

45. Nittin ranks eighteen in a class of 49 . What is
his rank from the last.
1. 18 2. 19
3. 31 4. 32

46. Amanranked ninth from the top and thirty three
from the bottom in a class. How many students
are there in the class ?

1. 40 2. 41
3. 42 4. 43

Direction (Question 47-51) Study the following venn
diagram carefully and answer the following questions.

il
15 Gi

12 & 7 R 3
Teacher

16

14

\

Engineer

fsgew (YIS 40-42) AfiaEs I8 996 Bet afesa

fogt o sta/gast YT B9
40. 24 ¥ 16 ¥ 8 ¥ 32
1. +,-,= 2. +,- =
3. -,+,= 4, X+ =
41. 20 % 2 ¥ 4% 2 % 12
1. +,-,4,= 2. 4+, +,-=
3. -, = 4. -, - =+
42 10%3%2%8%7
1. X, T,y = 2- T, %X, 5=
3. .,+,%,= 4, -, =X, +

43. Hdd P T HIBY &, QT H3TBY x, RT"HIBH
+M3 ST HIBY - J2 3t
18Q12P4R586="?

1. 53 2. 59
3. 63 4. 65
44. AAJ A H3BY +,B TTHIBT-,C ©
H3BY x 9< 3
(10C4) A4C4)B6 T HBSUITAT |
1. 60 2. 56
3. 50 4. 46

45. fxfas = 49 sfout &t i3 fe9 niz9<t
¥ 31 Qrer 38 uiE fada<t 3T 31
1. 18 2. 19
3. 31 4. 32

46. »s o QuI ot IT T M3 68 U T
33Tt ¥ 1 & 3 T fad fefenrradl

Js|
1. 40 2. 41
3. 42 4. 43

fagew : (s 47-51 ) Jstfeda@ Iz fega &
fons 578 ud w3 fe'3 a@ yEst @ €797 feC

15

/ N




47.  Which number represents the girls doctor who

are not teachers ?
1. 7 2. 6
3. 9 4, 15

48. Number ‘8’ represents
1. The doctors who are teachers also
2. Only doctors
3. Girls who are teachers
4.  Girls who are doctors.

49. Which number represents girls who are teachers
as well as Engineers also?
1. 9 2. 6
3. 8 4. 7

50.  which number represents girls who are teachers

, doctors and engineers
1. 7 2. 8
3. 6 4. 16

51.  which number represents doctor, teacher and

engineer
1. 7 2.9
3. 6 4. 16

Direction: Arrange the words in the alphabetical order
and write/choose the word which comes at the second
place in question (52-53)

52. 1. False 2. Follow
3. Faithfully 4.  Fallible

53. 1. Magical 2. Magnetic
3. Magnify 4. Marshal

54. How many such 5’s are there in the following
number sequence each of which is inmediately
preceded by 3 or 4 but not immediately followed
by 8 or9?

35954553584567357554523510

1. Two 2. Three
3. Four 4. Five

47. fIT3™ 9 It vdea faagimt miferrua

sric § wan@er |
1. 7 2. 6
3. 9 4. 15

48. W ‘8’ wawgErd ?
1. 3ded fAad mifomua S 95

2. deB I
3. BIapdt fagStmt miferua 95|
4. BIAMT fAost saeT I8
49. faasr Wa, st faaghnt miferrua w3
féviatvg € 95 § Tanr@er 9 7
1. 9 2. 6
3. 8 4. 1

50. faoa wa It faoadt wiftorue

FeT w3 feritatre <t o5 § saw@er 3 ¢
1. 7 2. 8
3. 6 4. 16

51. fauar #q svaes, Mfeaua w3 fidlatne

3 serer 3|
L. 7 2. 9
3. 6 4. 16

fsoew : yas (52-53 ) fe'v f&'3 muet § von+t
TISHST € QA MgA'T a9 M3 §u AEE g 7 gn
Ag's 3 wr@er 3

52. 1. False 2. Follow
3. Faithfully 4. Fallible
53. 1. Magical 2. Magnetic
3. Magnify 4. Marshal

54, fous s f@gna‘s’ fa& gt '3 Afaz &
faw fes #a 5 3 ufast wra 3 7t 4 wr@er
3= g e f&'e #a 8 A 9 &7 w@er
3=

35954553584567357554523510

2. f3=

<
o9 4. U=



57.

58

59.

Arrange the following properly and choose the
proper combination of sequence from given four

options.

1. Diwali 2. Independence day
3. Christmas 4.  Republic day

5. Holi

1. 13524 2. 452,13

3. 24,153 4, 45,123

Which colour will come at the opposite of red
colour.

1. Blue 2.
3.  White 4.

Black
Yellow

which number will come at the bottom of last
cu

3. 6 4. 1

Arrange the following words according to

dictionary arrangement

(a) Eagle (b) Earth
(c) Eager (d) Early
(e) Each

1. aeb,dc 2. badce
3. byeceda 4, ec,aadb

Select the combination of numbers so that the
letters arranged accordingly will form a
meaningful word.
DIFERN
123456
1. 143,625 2.
3. 3,524,6,1 4,

6,4,3,5,2,1
5.4,3,2,6,1

55.

56.

57.

58.

59.

35 fafimt <t sla Iasty fe€ 3 fe3 a@
9 A<t €30t i@ ala sesty To myo
=T
dest 2.

1. wryet feen
3. faafum 4. I=339 fe=m
5. 98t

1. 13,524 2. 452,13

3. 45,1,2,3

24,1,5,3 4.

TS &1 € AoHE T8 A3fo 3 fausr dar

[

3. faer 4. yitsr

wied we & I8t n3fa 3 fagar wia

Y

3. 6 4. 1

f&'3 9@ mEet & HEEdw @ qH MFAT A4 |

(a) Eagle (b) Earth
(c) Eager (d) Early
(e) Each

1. aeb,dc 2. b,adce
3. bceda 4. ec,adb

wat ev wifvar Ay 9 fAR wighd | ryat
3 3oty fe'st e 3t d¥t Aoud HEE
- o
DIFERN
5

1234 6
1. 143625 2. 643,521
3. 35,24,6,1 4. 54,326,



60. How many numbers from 1 to 100 are divisible

by 12 but not divisible by 36
1. 6 2. 17
3. 8 4. 4

61.  Varun walks 2 km towards south, now turns left
and walks 2 km, again turning left he walks 2
km . In which direction he is from the starting

point
1. South 2. North
3.  West 4. East

62. which word cannot form from word INDIA

PUNJAB
1. JANAB 2. JAIDNA
3. PUBLIC 4. PIANAJ

63. A s brother of B, A is the son of C, D is C’s
father. How B is related to D
1. Son 2.
3. Brother 4,

Grand Son
Grand father

64. Introducing awoman aman said , “Her husband
is the only son of my mother”. How is the woman
related to the man ?

1. Sister 2. Wife
3.  Daughter 4. Mother

Direction (Q 65-70) Developing relationship on both
sides of sign :: replace question mark .

65 96:9::84:°?
1. 11 2. 48
3. 16 4, 25

66. 131:125::313:?
1. 729 2. 343
3. 1728 4. 64

67. VLUK :LVMW :: REDNI:?
1. JEOFS 2. JFEOS
3.  SOJFE 4. JOEFS

60. 1 3 100 3 fad »fad wa/fforet g5
fA9® 12 &% a1 13 AT AAT TS UT 36

&% 91 &1 13 AT AAE |
1. 6 2. 1
3. 8 4. 4

61. <I< 2 fA)t. Sys four feo ¥@er Ji1ge
¥® Y yIa Qv 2 fait. ¥%er 3| feg ue
Ui y=a €9 2 fat. g5e 1 &F I8

3 fig 3 G favst femr fe9 31
1. SYE 2. €399
3. UM 4. ygyg
62. H9C 'INDIA PUNJAB' 3 fag3T mae &t
gerfenT A AgeET|
1. JANAB 2. JAIDNA
3. PUBLIC 4. PIANAJ

63. ABeErgaTIIAC TTYITT ID,C urfuzr

31 BeD s®atfaasr i
1. U39 2. 43ar
3. gdr 4) T
64. feq fenadt g9 Areardt f&e 38 fo'q yamw

& fagr “@w fengdt e u3t Adt war o

fea@3ar W=7 317 €F fenadt e @R yam &'
at famar 3 ?

1. 3T 2. uIat

3. y3gdt 4. W3T

fagew (yms 65-70) '3 a@ &g :: @ 35 uywt
AT RETfug q9a ©F yEs fig <t mepr o3 o

feasyt &5 at mr3ar ? ‘
65 96:9::84:?

1. 11 2. 48

3. 16 4. 25

66. 131:125::313:?
1. 729 _ 2. 343
3. 1728 4. 64

67. VLUK :LVMW :: REDNI: ?
1. JEOFS 2. JFEOS
3. SOJFE 4. JOEFS
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68. D-23:W-4::k-16:? 68. D-23:W-4::k-16:?
1. P-11 2. M-14 1. P-11 2. M-14
3. U-6 4, E-5 3. U-6 4. E-5
69.  Ship: Sea:: Camel: ? 69. miwdtAow:Mieg =85 : 7
1. Forest 2. land 1. HI® 2. Mt
3. Mountain 4. Desert 3. uIHd 4, Iamas
70.  Line : Square :: Arc: ? 70. FUT:LII = TY: ?
1. Ring 2. Sphere 1. 338 2. JBAT
3. Circle 4. Ball 3. dda9 4. 3Je
71.  Question Figures 71. yms fo'ge
K:an g 2] KA k1
Answer Figure CECACES]
(h (2) (3 (4) (N (2) (3 (4)
72.  Question Figures 72. yus foge
F | sossmm—— | ‘I""—'—'_|.‘ L]
Awnser Figure g9 fe3e
ElE=E [EiE&IE
(1) (2) (3) i4) (1) (2) {3) {4)

Directions : (Questions 73-76) : Which figure is

different from others

fagew -yus (73-76) {9 fagar fe'gg ardbit 578

FYIT T |

73

.

9

{

g

- ——— o — e = 11 o

©

3

|9

3

©
4




74. 74
— r——-\!‘u—\‘i\// " r——'\!L——-\“?\//
1 2 3 4 1 2 3 4
75. 75.
R R R[ R

- E
oY)
0
D
Vo
\§-/

76. 76.

Direction: Find the mirror image in question (77-79)  fagew : ya& (77-79) fe'v fo'39 A HtE fe'o Sue

for figure A 3 fqd faar g9ier ?

77. 77.

T T o] ¢ [ T *o]  ©
el e RN e B P e e N

78. : : 78.
SlEIREEREREEEE
® 1 2 3 7 @ 1 2 3 7

7. V' 79.
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80.  Find the Water Image of Figure ‘x’ (Q.No. 80-81)  80. f§¥39 ‘x' I yal &g ySfig 5'9 (yus 80-

= &
FEEE PEE®

81. 81.
BN
b5
X)
o ®) viv o @) viv.
1 3 4

2 1 2 3 4

Y

Direction (Q. No. 82 -84) figure A is hidden in whichof  fs3ewW (Y& 82-84) fg 3T A f&'3 a8 w9 fa'zat

the four alternatives figure choose that &9 fan g gfnr Ifenr 3 , Aot feasy Et S
aql
82 82.

A) 1 2 3 4 A 1 2 3 4
83 83.
L AL LA —] Al A
lél H= IR : <\
A) 1 2 3 4 A 1 2 3 4
84. 84.




Directions (Question 85-87 ) Three figures marked
LILIII have one fold at I, 2™ fold at IT and is cut at
figure IIT which amongst the four alternatives will
show the unfolded position of figure III.

fsaew (yus 85-87 ) : 13 fo'3at I, 11, I »igAve
fe'q et fo'ge I Wgwe w3 gwt et fo'sa I
wgArg Wi fomr 31 fo'se I wigww few 3
Sfenr foamir 3157 32 fe'sa § tge 3 ame fo'se
III faw 39t er sad T |

85 85.
Y Vi oy i
< L I;I.'f" 1 11 ) I:,‘I.f"
0 5 o % | [ © 0 P % o O
o ’ 1 0 ;
w w - ® Y) w @ ® “
86 86.
1 il B & 1 1T TUITT
w ® @ (&) W W @ (4)
87 87.
= =]
1 it '"i'a 1 it ""ﬁ
S 5 gg

88.  Find the two figures in the following which are
out of position and require inter changing of
position to put the entire serial in order.

88. &3 92 fo'ger f€9 wfad faud & fo'get
& A9 § wruw fe' sefewr a7 fa o
fe'39 fe'anme st fee »r are

o




89.

© IO

in problem figure two dots are placed. This
figure is followed by four answer- figures only
one figure among them fulfilling the same
conditions as in problem figure

Problem Figure

Answer Figure

<@D

(4)

90. Which figure can be fitted to figure ‘x’ so that it

z N

may become a complete square.

0 [ [ED

91.

92.

93.

95.

D¢

89.

f&'3 3¢ yms fo'3e fe'o € fig sare o
51 rron@ a3 I w9 faget @9 fea
fgsge Afe3 R s feefign e s
WSAT HISt It deT 991

®<I(D>v<@D

1) (2) {3

90. feI T fIFITX & B I9fogat fe. favar

fa'3g fstienr T fa foga X fea s

NN By

a

2

1 2 3 1 2 3 4
ATféR (SCIENCE)
The main component of biogas is 91. wfeGdmeryywea d -
1. €O, 2. CH, 1. Co, 2. CH,
3. H, 4 HS 3. H, 4. HS

Which of the following is a non-renewable

source of energy ?

1. Wind Energy 2. Solar Energy
3. Fossil fuel 4,  Hydel energy
The far —point of vision of human eye is
1. 25cm 2. 25mm

3. 25m 4. Infinity

~ The S.| unit of electric power is -

Volt
Watt

1. Ampere 2.
3. Ohm.. - 4

The direction of magnetic field produced as a
result of flow of current in a current carrying
conductor is obtained by:-

1. Maxwell Right Hand Rule

2. Fleming’s Right Hand Rule

3.  Fleming's Left Hand Rule

4, -Faraday’s Rule

92.

93.

94.

95.

I fefunt f&F fagar a-sfenr@sdar
Qe A= 3

1. dsganr 2. Howt oA
3. s dtas 4. uE G
AUTSE NG ot »y e ga fig-

1. 25cm’3derd

2. 25mm’3 Ferd

3. ’m3IFEIT .
4. WEI FdET

faﬂa‘_f"uaa’re*m%—
1. »hiubnad 2. BT
3. G 4.

Ie

€3l Suat 839 &t ferr fapua a9 af :-
1. NIRS® @ A 78 ¥ famn gnmar

2. gBfimre AR I8 fawH gmmar

3. e@fimre 4¥ ow e fou gnmar

4, @IF < fauH gmar



97.

100.

101.

102.

103.

The power of a convex lens is 2-D . its focal

length will be -
1. 20cm 2. 40cm
3. 10cm 4, 50cm

If the frequency of the wave is tripled then what
will be its wavelength

1. Becomes double

2. Becomes half

3.  Becomes one third of its original

4.  Remains same

Which of the following cannot hear ultrasound
waves

1. Bat 2.
3. Dolphin 4,

Human
Dog

Which type of mirror is used as rear view mirror
in vehicles-

1. Concave Mirror

2. Plane Mirror

3.  Convex Mirror

4.  Any Spherical Mirror

The colour of the neutral wire used in domestic
circuits is

1.  Black 2. Red

3. Green 4. Blue
Sini \ag established by

Sinr

1. Newton 2. Raman
3. Snell 4. Faraday

Find out the maximum resistance obtained by
connecting three resistors of resistance 1/3 r
each )

1. 18r 2.
3. 109r ' 4.

ir
3r

When light rays enter human eye, which part of
an eye performs maximum refraction ?

1. Crystalline Lens

2. Outer Layer of Comea
3. Pupil

3. lris

15

96.

97.

98.

100.

101.

102.

103.

fe'a €35 857 & ga3t 2-3¥ruzT I

fenet 8w gdt Gt -
1. 20cm 2. 40cm
3. 10cm 4, 50cm

Aad fan Idar &t mieadt {35 ger ag fest

e 3t fen &t Idar & Saet &t It ?
1. € gieTdA=an

2. WUl g A<t

3. A% ot fea {3t § a<ait

4. e gEmH &IT I

35 fefimt {9 faoar die »@ecaw Qs
Jdart 39t g AFeT ?

1. IHares 2. WY

3. 3%fes 4. g3Iv

v

Hea Trust fea fu'e = fam Sue ¢t <93
e Tt-

1. »IIB TS

2. W3S TIuT

3. €3y

4. get S IBad GIuT

w3y ufeuy fe'g Quiiar st ot Qenils
39 TeIArJer -

1. e 2. I

3. T 4. BiHT

g:_:'r 2 i 3 A3 3 ufost merfug atar -
1. fs@es3d 2. MEE

3. AA® & 4. JWIE

13+ @ {3 yfsduat & fan sg fafas asa
fdsr o3 sv o yug e raa gt 7
1. 18r 2. 1r

3. 19r A 3

we niy e yaw fagst eus Jotut 95

3t I ya'w faw It musfag derd 7
1. fquest 8sw

2. JI&PAT S grIdt AST

3. u3st

4. wnfefan



104.

105.

106.

107.

108.

109.

110.

Which of the following is the correct process
or method to prevent rusting of iron

1. Painting 2. Greasing

3 ByZncplating 4. Allof the above

CHCHOH KMnO,

A
) QO - J—
1. CH,COOH 2. HCOOH
3. CH,CH,OH 4. C.H,
Propane have
1. 10 covalent bonds
2. 9 covalent bonds
3. 8 covalent bonds
4. 7 covalent bonds
An element X forms chloride having formula

XCl.. In the periodic table the element X most
likely be in the same group as

1. Na 2. Mg

3. A 4. Si

Chips packets are filled with Nitrogen gas after
removing air .

1. To prevent oxidation of chips

2. To prevent reduction of chips

3. To prevent rusting of chips

4. To prevent chips from water vapours

Number of valence electrons in the CI-ion is
1. 8 2. 18
3. 17 4. 16

Which of the following solutions reacts with the
pieces of egg shell to produce a gas which when
passed through lime water turns it milky . The
solution is

1. Nacl (aq) 2.
3. Licl (aq) 4,

Hel ())
Kcl (aq)

16

104. 35 fahent f&3 fogah fet 83 § AT aa

105.

106.

107.

108.

109.

110.

Ty zHtslad:

1. UedqId

2. dJEA BIrgeET

3. faa et ugs sg@er

4. QI AT

CH,CH,0H KM204 X

) G [ —

1. CH,COOH 2. HCOOH
3. CHCHOH 4. GCH,

fes
. 10-Afg A@wE §U& I51
9- Ay Hova fus 9I5|
8-Afg HGHT 805 I51
7-AfT FGHT §Us 951

H W N =

I X, XC\, F37 BT IBIEIT v I |
FIX mireadt AaSt & @ Iy fe I=ar
famfee____ @I

1. Na 2. Mg

3. A 4, Si

foun @ 88 (fee? ) feg' g=r a® @

sTeteans N 9T S gt 3t fa

1. foum e »marlads 373 A |
2. foun e BWaes &7 I Ad|

3. foumer&ds 57T R

4. foum < 7% THY 3a< El|

O (a&arets nifes) e fiina fedagst
dt #feonr 3-

1. 8 2.
3. 17 - 4,

18
16

I fefipnt feF fao3 o ev Wiz #3 <€
fewa € gta gafant 575 fafenr qaa fea
Il ager IR gd § g g fet 3 |

1. Nacl(aq) 2.
3. Licl(aq) 4,

Hel (1)
Kcl (aq)




111.

112,

113.

114

115.

116.

17.

118.

119,

In general the nth shell can accomodate
maximum electrons where n stands for the

number of shell
1. 3n? 2. 2n?
3 n 4 2n

Out of following which has electronic
configuration of alkali metals

1. 281 2. 28

3. 27 4. 282

An aqueous solution whose pH=0is
1. Basic 2. Acidic
3. Neutral 4. Amphoteric

How Vinegar is made

1. By mixing 3-4 % of acetic acid in water
2. By mixing 25-30% acetic acid in water

3. By mixing 30-40 % acetic acid in water

4. By mixing 50% of acetic acid in water
Consider the following reaction

Zn 0+C —» Zn+CO

The Statement which is not correct for the given
reaction is : ‘

Itis redox reaction

C, gets oxidised to CO

Zn0 gets reduced to Zn

Zn0 gets oxidised to Zn

el A

One molecule of compound CuSO0,.5H,0
represents how many number of atoms in it.

1. 11 2. 6

3. 21 4. 22

Lipase enzyme act on

1. Amino Acids 2. Carbohydrates
3. Fats 4. Nucleus

Mode of Vegetative Propagation in grapesiis ......
1. Cutting 2. lLayering
3. Budding 4.  All of the above

Name the disease which is heredital& ?
1. Hemophilia 2. Malaria
3. Plague

4.  Tuberculosis (T.B.) -

17

111

112.

113.

114.

115.

116.

117.

118.

119.

.o 39 3 n B fe9 < F <U
fedags »r vae 95, A9 n &% °r 499
wIAgEr 31

1. 3 2. 2

3 n 4. 2n

fous f<S* faust feda orfaa Sty Awast
orat @t 3

1. 281 2. 28

3. 27 4. 282

fe'g 78t Wi fanet pH=03

1. ywat 2. IAH

3. Gumls 4. My
fAgar gear 3

1. 3-4 % wvifed Afig e urat feg uis
2. 25-30% e Afig e ural feg uis
3. 30-40 »ifea Az Trust fegus
4. 50%wrtfed AT oyt fSQ WS
35 foit mitaes set fagsT aus st a9t
G

Zn 0+C — Zn +CO

1. feg feq fagmam fafeo 3

2. Cwanifga 3 faar 3 CO feg

3. Zn0Buwfqz J feur 3, 2nfe's

4. ZnOnraifga T faar & znfe's
ufarer CuS0,5H,0 e wame 7 ad fe'e
ng &9 & yardnrt & A fdat 3-
1. 11 2. 6

3. 21 4. 22

el Aaaey faw €3 fafenr ager 31
1. »"i&399 2. FogoEisee
3. dayt 4. feQamifen
et &9 arfeq yaes <t fedt § -

1. IBHsgE 2. uwwder

3. gfsar 4. Quiaz g
fagar 3o nigdfaa sw Jer 37

1. IetEmr 2. HBdr

3. uBdr 4. 3Iufex



120.

121.

122,

123.

124.

125.

126.

127.

128.

129.

Watering of mouth is a

1. Refiex Action 2. " Action

3. Good 4, Bad

Growth Harmone is produced by gland
1. Adrenal 2. Pitutary

3. Pancreas 3. Thyroid

Fruits are formed from

1. Stamen 2. Stigma

3. Ovary 4, Owule

Which of the following blood groups is referred

as universal recipient
1. A 2. AB
3. B 4. O

Name the tube which connects the kidney to the

Urinary Bladder
1. Urethra 2.  Nephron
3. Tubule 4, Ureter

One cell - thick blood vessels are called

Veins
Pulmonary Artery

1. Arteries 2.
3. Capillaries 4,

In food chain the third trophic level is always

occupied by
1. Herbivores 2. Decomposers
3. Camivores 3. Producers

Harmones associated with gonads ?
1.  Testosterone 2. Estrogen
3. Both1and2 4, Auxin

The principles of ‘Theory of evolution of natural
selection is given by

1. Charles Darwin 2.
3. JBD Haldane 4,

Stanley
Mendal

Which harmone prepares the body for stress
situation

1. Testosterone 2.
3. Adrenalin 4.

Insulin
Thyroxine

18

120.

121.

122,

123.

124.

125.

126.

127.

128.

129.

1. AFEES 2. fugedt

3. 3 4. UENES

s fan 3 geer d

1. Uawa 2. nAfeamr

3. WA 4. HAWNT
gateans fafues fan y& <aar § fagr ater
G|

1. A 2. AB

3. B 4. O

En Toet T &t € § Po€ § Y3 WAST
&8 A=l ¢ |

1. H3ITHadr 2. &S

3. fefa@s 4. y3q =faet
sgafaa‘lwe"tme‘}ﬁ'ae‘tfe%ﬁs
......... @IS

1. OHStT 2. fager

3. duarer 4. UBHfadt aHat
Ios st f IF wovdt y'ue 3 faed #ie
Je I5?

1. ®aadt 2. @ madt

3. WA 4. Q3sued

I fefunt f&S fagar féait oais 37

1. ZWHeRds 2. €HZIHS

3. S Q)MI Q) 4. wWaAfES

guadt 3 g e feam e fautes famd
fear?

1. vIgHIdfes 2.
3. adt. INTH3T 4.

eSS
NF-r.)

fagar gais wdte § wWusas Afadt ZE
famgagerd ?

1. ZWERAES 2.
3. W3dslEs 3.

fémfes

griegrafis



130.

131.

132.

133.

134.

135.

A boy receives which chromosome from his

130. Jet BT myE fusr F fam g g9 3

father YU Faer Ji
1. X 2. Y 1. X 2. Y
3. XY 4. O 3. XY 4 O
FIfEI (MATHS)
If (x+a) is a factor of 2x?+2ax+5x+10. find the 131. A9 (x+a), 2VX’+ 2ax + 5x + 10 T 5T
Value of ‘a’ Je 3taT yE yIT ad|
1. a+2 2. -2 1. a+2 2. 2
3. a-2 4, 2 3. a-2 4, 2

Euclids’s division lemma states that for two
positive integers a and b, there exist unique
integers q and r such that a =bq +r, where r must
satisfy

1. 1<r<b 2.
3. 0<r<b 4,

O<r<b
0O<r<b

For what value of k will the equations x+2y +7=0
and 2x+ky+14=0 represent coincident lines

1. 4 2. 17

3. 2 4. -7

Which of the following are quadratic equations

i. X-6x+4=0 i. 2¢-7x=0
ji.  x+3/x=x2 iv. x2+1/e=2
1. both()and(v) 2. both(j) and (iii)

3. both (iii) and (iv) 4.  both (i) and (i)
Which of the following list of numbers form an
AP

i) 410,16,22, ...

1. (i), (i), (iii) and (iv)
2. Only (i)

3. (i) and (ii) both

4. Only (iv)

132. gafss % Yifaar signa fadtmt Jent
€ UETIHT HYIs Afunret a w3 b wEt €

fesy= yaw ffwmret q w3 r §F 95 f
a=bq+r, fAd r 35 fafrt @9 ... a3
ydt gger 3

1. 1<r<b 2. 0O<r<h

3. 0<r<b 4 0O<r<b

133. k @ fan W& Bt milgast xe2y+7=0 W3
2x+ky+14=0 Tt Juret & wom Qe
1. 4 2. 17
3. 2 4. -7

134. 35 fafirt f@S faus & w3t mitass

I5?

. X2-6x+4=0 i. 2@-7x=0

iii. Xx+3x=x2 iv. X+ 1/x2=2

1. ()mBWeET 2. ()m3 (iii) €=
3. (i)»m3 (v 4. ()m3 (i) &=

135. I3 fefimt 1S9 faozdut via aifsga 3t

57
) 4,10,16,22, oo
i) 1,185, v

i) 2,22, 2,2
V) 1,1,1222333, s,

(i), (ii), (iii) 243 (iv)
TS (iii)

(i) 3 (i) §2
e (iv)

bl



136.

137.

138.

139.

140.

141,

142.

In AABC,AB=6v 3 cm,AC=12cms and BC=
6cm.TheangleBis

1. 120° 2.
3. 90° 4.

60°
45°

The perimeter of a triangle with vertices (0,4)
(0,0) and (3,0) is

1. 5 2.
3. 11 4.

12
7+V5

If Sin A + Sin? A =1 then the value of the
expression (Cos®A + Cos*A)is

1. 1 2. 1/2

3. 2 4. 3

How many tangents can a circle have

1. 1 2. 2
3. Infinite 4. 100

Consider the following statements

()  The perimeter of a circle is generally known
as its circumference

If ¢ denotes the circumference of acircle of
radius r then C=2rr

Area of semi circle is Yamr?

Area of circle is 1/4nr?

which out of these statements is wrong

1)  Only (i) 2)  Only (ii)

3)  Only (iii) 4)  Only (iv)

(i

(i)
(iv)

If ¢, b and h denote respectively the length,
breadth and height of a cuboid, Then diagonal

of a cuboid is units
1. 2(@+b)h 2. Ve +b* +h?
3. ¢&bh 4. 2 (fb+bh+th)

Which of the following is correct ?

1. Mode=3 Median-2 Mean

2. Mode is least frequent value of a data

3. The mean of first n odd natural number is n/2

4. The arithmetic mean and mode of a data are
24 and 12 respectively then its median is 22

20

136.

137.

138.

139.

fait f3gw AABC f<'S AB=6V 3R )T. AC=12
M. w3 BC=6 M Gt LBE B EH
1. 120° 2. 60°
3. 90° 4. 45°

fe'g fgga o ufoy ysr a3 frme finae
f&g (0, 4),(0,0) M3 (3,0)T&

1. 5 2. 12

3. 11 4. 7+V5

AT SinA+Sin2A=1 J< 3t Cos?A+Cos‘A
TTHB YIT IS

1. 1 2. 12

3. 2 4. 3

fo'ar Tag Snrt faa it AuaR Iyt I RaE it

- TE?
1. 1 2.2
3. Md3 4. 100
Jo fod qust 3 fega ad

140.

141.

142.

() w9 < ufory § Gwer uar faar Arer
a1

(i) AITTITE AU feUH TR WS CTaq
Terulgr It C=2nr

(i) 9T T T HIIEH = omr®

(iv) T9 e 437 = 1/4nr

uIa Fust f=F faoer aus Aot &4t I

1. fAes ) 2. fwae i)

3. fwae (i) 4. fAse(iv)

faq fan were & duret, Savet w3 GTdt
U= ¢, b w3 h I2 3t wee = feawe

d<qar |
1. 2(¢+b)h 2. Ve +b? +h?
3. &h 4. 2 (€b+bh+éh)
I fod quat fed faaar qus WAt 3 ?

1. u9%d =3 Wfgar -2 Hais.

2.  wafamfegmgFueTamesad
Wad § 598 faar Ater 31

3. yfggit neia yfaega At e
WS n2 §er J |

4. 799 T T8 viafant T WS m3
TIBT PHIT 24 W3 12 I2 It Hfaar
22 J=ai



143. Whichof thefollowing cannotbe the probability
of an event ? :
1. 23 2. -15
3. 15% 4, 07
144. For what value of k will the following pair of
linear equations have Infinitely many solutions?
Kx + 3y - (k-3)=0
12x+ky-k=0
1. 6 2. 0
3. 3 4. 12
145. The sum of first n positive integers is given by.
1. Sn=n(n+%) 2. Sn=n (n+1)
3. Sn= n(n-1) 4 Sn= n (n+1)
2 2
146. Find a relation between x and y such that the
point (x.y) is equidistant from the points (7,1)
and (3,5)
1. -x-y=2 2. -x+y=2
3. X-y= 2 4, X+y= 2
147. In right angled A ABC
right angled atb, iftanA= R
1 then find the value of
2Sin A.Cos A
1. 1
2. 2
3. -1
4 . 0 B C
148. Find the area of a triangle whose vertices are

(1 ’ '1) ('496) and (‘3!'5)
1. 15
3. 12

2.
4.

24
9

149. Consider the statements

StatementI  There is no tangentto a circle passing
through a point lying inside the circle.
Statement II  There is one and only one tangentto a

circle passing through a point lying on
the circle.

21

143.33er‘§‘faaﬂﬁfuwfaﬁwe‘r

fraresT 53t T AaEl?
1. 23 2. -15
3. 15% 4 07
144.kéfanu‘sé,se‘t,33‘ff€§%a‘tnmaa€
ﬁ%%»megufe’anﬁaa%ﬁa’r
Kx + 3y - (k-3)=0
12x +ky-k=0
1. 6 2. 0
3. 3 4. 12
145. 35 fatont f&F faaar ufagit nTs AYSS
ffprret T AF JeT 31
1. Sn=n(n+%) 2 Sn=n(n+1)
3. Sn:.ﬂrﬂ)— 4. Sn:ﬂrl.i)—
2
146. xm@’yfa’vffﬁrmua"a%faﬁg(x,y)
ﬂg»ﬂ(7,1)»r§(3,s)§‘aawaga‘téﬁ%|
1. -x-y=2 2. -x+y=2
3. x-y=2 4, x+y=2
147. féq avae f3gw AABC
feg, fAmer = BMET
3, Ag9 tanA =1 3
2SinA.CosA BT H& U3"
s |
1. 1
2.
4. 0

14s.eﬂ1%{§weramu'afaﬁfﬂnéfma
(1,-1) (-4, 6) M3 (-3,-5)I& |
1. 15 2. 24
3. 12 4 9

149. 35 fou aust 3 fega K91

aus 1 o9 & vreg fe3 fan fig 3 e T8t
Sag I §¢t FueR yT 4t J1

sasll  da 3 wies fan fig ¥ dR9 3 few
Ui 3T fET AuaH 3uT 31



Statemet III'  There are exactly two tangents to a circle

150.

151,

152,

183.

154,

155,

through a point lying outside the circle

22

qEE I a%ra%mwfasfaﬁfﬁgéw

Weﬁayéﬁmém

1. Statement I is not correct. e &)
2. Statement IT is not correct. 1. FESIFGT&H T |
3. Statement IIT is not correct. 2. IS NAR AT |
4. Al statements I, I, IIX are correct, 3. TESUIAN &1 T |
4. WY ES LI, %3 MR 95 |
The cumulative frequency of a class is the -
frequency obtained by ___the frequencies 150, faft sdwrasT &= mast fe'w furit =g &@
of all the classes preceeding the given class, "R T8waaT Qn =aar I ufvmt s 3
1. Dividing 2. Multiplying <99t & wrdgrggr v ger i
3. Adding 4. Subtracting 1. 3war 2. JITETH
o 3. 6 : 4. weg
AHTfr fefamima (SOCIAL SCIENCE)
Where did Guru Nanak Dev Ji go duringUdasis  151. Qewityt Sgrx FIIAIT F yie Jg sraT
after visiting Kurukshetra ? e faq o ¢
1. Talumba 2. Panipat 1. gy 2. Y3z
3. Kartarpur 4.  Sultanpur 3. dd39yqd 4. ABIBYT
Who was the Governor General of India after 152. mmﬁ%gﬁ?mm?aﬁm
first Anglo Sikh War ? "aIs S At ?
1. Lord Alion Bug 1. B9 NBE war
2. Lord Warrenhastings 2. B9F TIS ey
8. Lord Wellgley 3. B9F IwEST
4. Lord Harding 4. BIF JIfSar
Who was the leader of Ghadar Party 153. 3T ygH v it = At 7
1. Anr Singh 1. gz iy
2. Sohan Singh Bhakna 2. Age fiwsasr
3. Banta Singh 3. 437 fiw
4.  Kartar Singh Sarabha 4. I37 fiw Agrgr
Where was Maharaja Dalip Singh sent after 154. ﬂmﬁﬂaﬁﬁmh‘aﬁm@z@‘m
annexation of Punjab by the British ? HITHT @8l fw & fad 3fem fapyr ¢
1. Canada 2. Paris 1. I@Fr 2. Ufaw
3. England 4. Rangoon 3. féodw 4. &5
Who was the father of Guru Har Rai Jj ? 155. ggafsofe M @ fugrar st at 1t 7
1. Guru Hargobind Ji 1. g Jgeifde At
2. Baba Ani Raiji 2. g9 St e
3. Baba Gurditta Ji 3. g9 gefeer
4. Baba Attal Raj Ji 4. g9 ueH gfE At




156.

157.

158.

159.

160.

161.

162.

163.

How many Hymns (Shabads) were written by
Guru Amar Dass Ji in Adi Granth ?

1. 679 2. 907

3. 976 4. 665

Who became the Emperor after Behlol Lodhi ?
1. lbrahim Lodhi

2.  Sikander Lodhi

3. AlamKhan

4.  Daulat Khan Lodhi

Who made Delhi the Capital of India ?
1. Lord William Bentinck

2. Lord Mountbatten

3.  Lord Harding

4.  Lord Curzon

What type of soil is also known as 'Tea Soil' ?
1 Mountain Soil 2.  Desert Soil
3. Marshy Soil 4.  Clayey Soil

In which continent 'Thar Desert' is situated
1. Asia 2. Africa
3. Europe 4.  North America

The population of Punjab State as per census

1. 3.87 Crores 2.
3. 2.87 Crores 4,

3.77 Crores
2.77 Crores

The term 'monsoon' has been derived from
which language ?

1. Spanish 2,
3.  Arabic 4,

French
English

In which of the following states 'Kaziranga
Sanctuary' is situated ?
1. Punjab 2.
3. Maharashtra 4.

Uttar Pradesh
_Assam
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157.
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163.

wfe dtw wrfow fe's gg »igew w2 &3
HEE IS ?

1. 679 2. 907

3. 976 4. 665

aﬁi‘sé’n‘t?;mm&zm?
1. fegefon 84t

2. fwaeg 3ut

3. wWEWyt

4. ITBI Ut U

fe'st § 93 & anuat fan & gfenr?
1. ®was fefenm &fea

2. BEEHEeEes

3. B9F g

4. BIS THS

fam famy &t it § ‘gra & it < faor
Aterd?

1. WA id 2. wgmstfird
3. EBEstfat 4. diast i
‘g wges’ fan wotely feg nfag 3 7
1. by 2. wedtar

3. gy 4. €3 mydlar

A'S 2011 € ASIIEaT WEAT AT o &t
AT fdat 3 21

1. 387463 2. 3.77d33

3. 287333 4. 2.778q8F
Wogs’ wee fan g 3 fourr famr 3 ¢
1. mifsw 2. B9

3. gt 4. Wadwt
‘AAIEIT RAagnet’ (Hast wtes wet
g ofuna 839) faold sw ffa Rfez 3 ¢

1. Ay 2. €s9yen

3. MHJTHST 4. WA



164.

165.

166.

167.

168.

169.

170.

Which state has more sex ratio as per census of
India ?

1. Rajasthan 2.
3. Kerala 4,

Haryana
Jharkand

Which is the total length of river Ganga (in

Kilometres) ?
1. 2225 2. 2325
3. 2925 4. 2525

What are the winds blowing in the upper
atmosphere with a very high speed at a height
of 3 km from the earth surface are called as ?
1. Tsunami 2. Cyclone

3. Jetstreams 4. Monsoon

Part IV A introduced in Indian Constitution by
42 Amendment is related to

1. Fundamental Rights

2. Supreme Court

3. Parliamentary form of Govt.

4. Fundamental Duties

From which Union Territory of India are
maximum number of Members elected for Lok

Sabha?

1. Delhi

2. Chandigarh
3. Pondicherry
4. Lakshadeep

Which of the following states does not have bi-
cameral Legislative Assembly ?

1. Bihar 2. Uttar Pradesh

3. Maharashtra 4. Rajasthan

Which of the following Political Party came into
existence after India’s Independence ?

1. Congress

2. Marxist Communist Party

3. Muslim League

4,  Hindu Maha Sabha
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165.

166.

167.

168.

169.

170.

IS ASATET MGAT faoxs Iw o f8ar

»wEu3 frmmer 3 7
1. IVNES 2. Tfamrer
3. aI% 4. SI4S

dar 5t © 35 duret (fadieat f&a) fast
3

1. 2225 2.
3. 2925 4.

2325
2525

@3t @ wW3E T {35 g fadics & Gv&h
2 Quad Toiew feT wgs 39 I 3T
9 gatt Gt § fan s &8 wrfenr ater
31

1. H&™I 2. eI

3. A< AN 4. WSHS

42@ g gt 9 Afears fee Afas IV-A
gar fan 5@ AqU3 9 ¢

1. Mifsa nifgast 578

2. AR @OnEB3 T

3. ¥WWEl AT &8

4. Nfsd qI3<T IE

& RaT 9t fe'e faw d'edt R You f&s'

Ag 3 TTNTIS AR 5 ?
1. fest

2. SENEF

3. yigladt

4. ARSIV

35 faft f&F fan v f&9 € Aeal
fearsufsar a4t 31

1. fwe 2.
3. HJITHST 4.

§'39 yew

JHRES

J5 fefunt fEF faga T alST €8 993

&t warat 3 e Je e anfenr ?
1. gGER

2. WIaRee! afigfere uaet
3. WAfeH Siar

4. fdgwatmAer



17.

172.

173.

174,

175.

176.

177

Which of the following country is not a .

Permanent Member of Security Council?
1. Russia 2. China
3. Germany 4. France

At which place in 1945 the representatives of
countries approved and signed the charter of
United Nations ? :

1. SanFrancisco 2. England

3.  Beijing 4. Paris

Which of the following is not a feature of Indian
Foreign Policy ?

1. To oppose Racism

2. Faith in united Nations

3. Misuse of Nuclear Weapons (Energy)

4.  Non-Alignment

Which of the following is not a function (part) of
election process? '

1. Registration of Political Parties.

2.  Filing of nomination forms

3. Po‘lling of votes v

4.  Declaration of Election Results.

The Current Account of Balance of Payment
includes............ '

1. Visible ltems

2. Invisible items

3. Visible and Invisible Items

4. Capital Movements

In the economy Income level is Rs. 1000 crore
and consumption level is 600 crore than what
will be the value of average propensity to save

(APS)

1. 0.60 2. 0.06

3. 0.04 4, 040

Inflation is related to increasein_____continue
1. Price ) 2. Income
‘3. Employment 4,  Saving

25
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172.

173.

174.

. 35 fafipt f&E faoar 8w gafpn e er
Aavet Heg &t 3 7
1. o 2.

3. oHaT 4.

s
IR

1945 f&'9 fauat 7oy 3 51 et 3 Agaz
THST HW T 91929 YIS alaT?

1. WEIHmE 2.
3. Hifdar 4,

feard's
Ufen

35 fafint &9 fao=ht feiwar st feew
aEt &t &9t T

1. sHsewE e fedy

2. Hga3 Imed feo femem
3. yaHg Ifepat € gaes
4. grefaaduz

o fomr st a

175.

HW N =

176.

177.

1. IASIST €&t O IfAneIns
2. S™HATJI SOH FIST

3. < &t fgar

4. U< 3N WA aasT

IS gl € I U3 It L faoStmt
Het § ang gaer 3 7

# »9y feenyr &9 »"™Hes U'T9 1000 I35
3: €USI U9 600 FIF I< 3t »AIT g9
yfesst e y'® faar 9<ar

1. 0.60 2. 006

3. 0.04 4. 0.40

HeaTAfeat ... fegdesemraarzw
TU T

1. o3t 2.
3. gHard 4,

MHES

v

g93
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179

180.

“Foreign Trade” is the engine of Economic
development “ is the statement of '

1. Keynes 2. Robertson

3. AdamSmith 4. Robins

Which type of unemployment is associated due
to change in Production Technics.

1. Structural unemployment

2. Frictional unemployment

3. Seasonal unemployment

4.  Technical unemployment

Which is not a part of capital goods.
1. Raw-material Stock

2.  Machine
3. Food

4.  Equipment

178.

179.

180.

“ et U nrafad feam e féeme 31”7
feg faw e aua I

1. a&d 2. YIRS
3. WaWAfHE 4.

It f&F faoat Sg=ardt @sues 3Tl

< gUSE 55 HEUI J1
1. HIU&T3IHA Hgwarat
2. AWIHTSIHA Hgwardt
3. Wt Sgwarat

4. I3 Bgwarat

g7 -
1. TIHB T AT
HHlST

EL0Y
w39

oW N
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